1. Convert 4 - 3i to Polar form
Q4 ~ Cs .
Find the radius r, using the Pythagorean relationship 1" = 4/X~ + ‘|

Find the related angle, ¢, using ¢ = tan [ ‘ |]

Find the angle, 9, by determining the quadrant in which the terminal arm
is located and using the related angle.

* 180-0x | o Remember from last semester
180+ | 360-x

The polar form is rcis@
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Operations with Complex Numbers in Polar Form

Multiply the following complex numbers

Q+3)3+1) =6+x LD = 3l
Q‘?C 6%.55(\“6— ciS \%H.) = (ﬁ'ﬁ C’\s-H.-l o>

Convert all complex numbers from rectangular form to
Polar form.
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Do the same for the following complex numbers

(1+4i)(3 = 2i)



You may have noticed a shortcut when multiplying complex numbers in Polar

e When Multiplying, multiply the "t" values and add the arguments
* When Dividing you divide the "r" values and subtract the arguments

Argument:
The angle from the positive real axis to the position vector

representing a complex number in the complex plane. If the number

is written in polar form as rcis® then @ is the argument and "r" is
the modulus.

Examples
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De Moivre's Theorem
¥ Gmplex #% must be in polor Form
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Homework
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